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78.5+3.14

78.5 +3.14 = 7850 + 314 = 25
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HE D (3) 160cm?
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(1)30x2+34x8
=60 + 272
= 332(cm?)
(2) 30 x 2 422 x 10
= 60 + 220
= 280( cm?)
(3)50x 2430 % 2
=100 + 60
= 160( cm?)
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s5H|E W AL AA 9] 72.5%

AL 40 - 29 = 11(F) o] B2
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(FEAFo] 12cm] ] Hol)

=12 x 12 x 3.14 = 452.16( cm?)

(AE°l 30cm?l AL Hol)

= 15x 15 x 3.14 = 706.5( cm?)

ol &} 1 706.5 — 452.16 = 254.34( cm?)
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(Aot 2™ Ad)

=100 x 2+(¥F2]5°] Tm¢l Yo} ¥F)

=200 + (14 x 3.14) = 200 + 43.96 = 243.96( m)
(Aol 2 A)

=100 x 2+(¥FA]F°] 5m<l Ao AF)

= 200 + (10 x 3.14) = 200 + 31.4 = 231.4(m)
(2707t ¥ Aot Aozt 2 A= 7
= 243.96 4 231.4 = 475.36( m)
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— 30 % 20 x 15 = 9000( cm®)
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(Bo1=9 29 £ £1]) = (4754 F1)

= (Ha3 F29 go]) x (&)

= (Ha3 F&9 gol) x20

(HE% FE o] Yo]) x20 = 9000 | 22,

(HE% FE o] Yo]) = 9000 + 20 = 450( cm?) Y T},




